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Note : This paper is of sixty (60) marks containing three 

(03) sections A, B and C. Learners are required to 

attempt the questions contained in these sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= lkB ¼60½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA  

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‗A‘ contains four (04) long answer type 

questions of fifteen (15) marks each. Learners are 

required to answer two (02) questions only. 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, iUnzg ¼15½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 
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1. What are the main reasons for low agricultural 

productivity ? What  steps have been taken by the 

government to increase agricultural productivity in 

India ?  

d`f”k mRikndrk ds fuEufyf[kr gksus ds eq[; dkj.k D;k  

gSa \ Hkkjr eas d`f”k mRikndrk dks c<+kus gsrq ljdkj }kjk 

D;k dne mBk;s x, gSa \ 

2. What are the main assumptions of the Renis-Fei  

Model ? Do you believe that  it is the one sided  

model ?  

jsful&QkbZ ekWMy dh eq[; ekU;rk,¡ D;k gSa \ D;k vki 

ekrus gSa fd ;g ,di{kh; ekWMy gS \ 

3. Describe the role of agriculture to rapid increase in the 

role of growth of economic development in the 

developing country.  

fodkl’khy ns’k eas vkfFkZd fodkl dh nj rhoz djus esa d`f”k 

dh Hkwfedk dh foospuk dhft;sA  

4. What do you mean by Food Security ? Briefly discuss 

the National Food Security Act in India.  

[kk| lqj{kk ls vki D;k le>rs gSa \ Hkkjr ds jk”Vªh; [kk| 

lqj{kk dkuwu dh laf{kIr O;k[;k dhft;sA  

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‗B‘ contains eight (08) short answer type 

questions of five (05) marks each. Learners are 

required to answer four (04) questions only.  
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uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, ik¡p ¼05½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. Write a short note on second generation Green 

Revolution in India.  

Hkkjr esa nwljh ih<+h dh gfjr ØkfUr ij ,d laf{kIr fVIi.kh 

fyf[k;sA  

2. Briefly discuss the Cobb-Douglas production function.  

dkWc&MXyl mRiknu Qyu dh laf{kIr O;k[;k dhft;sA  

3. What are the various parameters for determination of 

agriculture products prices in developing country ?  

fodkl’khy ns’k eas d`f”k inkFkksZa dh dhersa fu/kkZfjr djus ds 

fofHkUu vk/kkj D;k gSa \ 

4. Distinguish between economic holding and operational 

holding.  

vkfFkZd tksr rFkk fØ;kRed ¼dk;Z’khy½ tksr esa vUrj 

dhft;sA  

5. Describe marketing cost and marketing profit. 

foi.ku ykxr vkSj foi.ku ykHk dh O;k[;k dhft;sA  

6. Write a note one state food grain trade.  

jktdh; [kk|kUu O;kikj ij ,d fVIi.kh fyf[k;sA  

7. Analyse the role of rural co-operative credit 

institutions to provide loan for agriculture and allied 

activities.   

d`f”k ,oa lEcfU/kr fØ;kvksa gsrq _.k miyC/k djkus esa xzkeh.k 

lgdkjh lk[k laLFkkvksa dh Hkwfedk dk fo’ys”k.k dhft;sA  
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8. What is the impact of World Trade Organization 

(WTO) on Indian agriculture  ? 

Hkkjrh; d`f”k ij fo’o O;kikj laxBu (WTO) dk D;k izHkko 

IkM+k gS \ 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‗C‘ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy,  ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Fill in the blanks :  

fjDr LFkkuksa dh iwfrZ dhft;s % 

1. According to Lewis, the supply of labour is ......... at 

subsistence wage level.  

yqbl ds vuqlkj] thou fuokZg etnwjh Lrj ij Je dh iwfrZ  

---------------
 gksrh gSA  

2. The marginal rate of technical substitution is ......... for 

imperfect substitute factors.   

lhekUr rduhdh izfrLFkkiu dh nj viw.kZ LFkkukiUu lk/kuksa 

ds fy;s 
----------------

 gqbZ gksrh gSA  

3. The Commission for Agricultural Costs and Prices 

(CACP) was earlier called .............. 

d`f”k ykxr ,oa dher vk;ksx iwoZ esa dgk tkrk Fkk 
-----------------

A 
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4. Zamindari system was introduced by .......... in Bengal.  

caxky eas tehankjh O;oLFkk dh ‘kq:vkr 
----------------

 ds }kjk dh 

xbZ FkhA  

5. The targeted public distribution system was 

implemented in the year ............. 

yf{kr lkoZtfud forj.k iz.kkyh o”kZ 
---------------

 eas ykxw dh xbZ 

FkhA  

Choose the correct alternative. 

lgh fodYi pqfu,A 

6. Which year the Food Corporation of India was 

established ? 

(a) 1962 

(b) 1965 

(c) 1967 

(d) 1970 

Hkkjrh; [kk| fuxe dh LFkkiuk fdl o”kZ dh xbZ Fkh \ 

¼v½ 1962 

¼c½ 1965 

¼l½ 1967 

¼n½ 1970 

7. Which one of the following is/are the primary 

marketing functions ?  

(a) Assembling  

(b) Processing  

(c) Dispersion  

(d) All of the above  
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fuEufyf[kr eas ls dkSu&lk izkFkfed foi.ku dk;Z gS@gSa \ 

¼v½ ,d=.k 

¼c½ izlaLdj.k  

¼l½ forj.k  

¼n½ mi;qZDr lHkh 

8. The metric system for measurement was adopted in 

India from : 

(a) May 1960 

(b) April 1962 

(c) May 1963 

(d) April 1964 

Hkkjr eas ehfVªd O;oLFkk dks ekiu gsrq ls viuk;k x;k Fkk % 

¼v½ ebZ 1960 

¼c½ vizSy 1962 

¼l½ ebZ 1963 

¼n½ vizSy 1964 

9. What was the percentage of agriculture exports in the 

total exports of India in the year 2011-12 ? 

(a) 10.1 percent  

(b) 11.0 percent 

(c) 12.3 percent 

(d) 15.0 percent 
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Hkkjr esa dqy fu;kZrksa esa d`f”k fu;kZrksa dk o”kZ 2011&12 eas 

fdruk izfr’kr Hkkx Fkk \ 

¼v½ 10-1 izfr’kr 

¼c½ 11-0 izfr’kr 

¼l½ 12-3 izfr’kr 

¼n½ 15-0 izfr’kr 

10. Which one of the following is the apex organisation 

concerning the flow of credit for promotion of 

agriculture and other economics activities in the rural 

areas ? 

(a) I. D. B. I.  

(b) R. R. B.  

(c) NABARD 

(d) L. D. B. 

fuEufyf[kr esa ls dkSu&lk xzkeh.k {ks=ksa esa d`f”k ,oa vU; 

vkfFkZd fØ;kvksa ds izksRlkgu gsrq _.k izokg ds lEcU/k esa 

loksZPp laxBu gS \ 

¼v½ vkbZ- Mh- ch- vkbZ- 

¼c½ vkj- vkj- ch- 

¼l½ ukckMZ (NABARD)  

¼n½ ,y- Mh- ch- 
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